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 

 

 

 



𝑃𝑠𝑎𝑙 = 𝐾𝑝 · 𝑒(𝑡)

𝐾𝑝

𝑒(𝑡) = 𝑆𝑃 − 𝑃𝑉(𝑡)



𝐼𝑠𝑎𝑙 = 𝐾𝑖 · ∫ 𝑒(𝜏) 𝑑𝜏
𝑡

0

𝐾𝑖

𝐾𝑑

𝐷𝑠𝑎𝑙 = 𝐾𝑑 ·
𝑑𝑒

𝑑𝑡

𝐾𝑑



 

 

 

 





 

 

 

 
 



 

 
 





 

 

 

 

 
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 
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𝑣 =
𝑑𝑥

𝑑𝑡

















𝐽1 · 𝛩̈1 = 𝑇 − 𝑘1 · (𝛩1 − 𝛩2) − 𝑏1 · (𝛩̇1 − 𝛩̇2)

𝐽2 · 𝛩̈2 = 𝑘1 · (𝛩1 − 𝛩2) + 𝑏1 · (𝛩̇1 − 𝛩̇2)

Θ





𝐽1 · 𝛩̈1 = 𝑇 − 𝑘1 · (𝛩1 − 𝛩2) − 𝑏1 · (𝛩̇1 − 𝛩̇2)

𝐽2 · 𝛩̈2 = 𝑘1 · (𝛩1 − 𝛩2) + 𝑏1 · (𝛩̇1 − 𝛩̇2) − 𝑘2 · (𝛩2 − 𝛩3) − 𝑏2 · (𝛩̇2 − 𝛩̇3)

𝐽3 · 𝛩̈3 = 𝑘2 · (𝛩2 − 𝛩3) + 𝑏2 · (𝛩̇2 − 𝛩̇3)







𝜔 · 𝑏 = 𝑇 ∗ (%)

481,71 𝑟𝑎𝑑/𝑠 · 𝑏 =
3,24 𝑁𝑚 · 0,1

100

𝑏 = 6,72 · 10−6

𝑘1 =
𝐺 · 𝐽

𝐿



𝐺 =
𝐸

2 · (1 + 𝑣)

𝐺 =
20 · 1010𝑁/𝑚2

2 · (1 + 0,3)

𝐺 = 7,69 · 1010𝑁/𝑚2

𝐽 =
1

2
· 𝜋 · 𝑚 · 𝑟2

𝐽 =
1

2
· 𝜋 · 0,02𝑚4

𝐽 = 2,5 · 10−7𝑟𝑎𝑑/𝑁𝑚

𝑘1 =
7,69 · 1010𝑁/𝑚2 · 2,5 · 10−7𝑟𝑎𝑑/𝑁𝑚

0,15𝑚

𝑘1 = 1,28 · 105𝑟𝑎𝑑/𝑁𝑚



𝑘𝑒𝑞 =
1

1
𝑘1

+
1

𝑘2

𝑘𝑒𝑞 =
1

1
1,28 · 105𝐷𝑒𝑔/𝑁𝑚

+
1

0.548𝐷𝑒𝑔/𝑁𝑚

𝑘𝑒𝑞 = 0.548𝐷𝑒𝑔/𝑁𝑚





𝐾𝑝



𝐾𝑝 𝐾𝑖
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